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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

What was intended as a peaceful demonstration rapidly ---—--—-- - into violence.

1) agitated 2) degenerated 3) preceded 4) diseriminated
The Democratic Party -------——- 70 percent of the vote.

1) garmered 2) esteemed 3) obligated 4) assembled
Some animals can ---------- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand

Researchers have discovered that up to one half of all children born of alcoholics are
genetically --————-— to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
Communication via the Internet gives an important ------- - to international trade.
1) dimension 2) exposure 3) expenditure 4) distribution
Lack of childcare facilities can be a major --=------- for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
It is a common —-------- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
The -—------- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
The degree of punishment should be —-----—- to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
Low inflation is the key to -==-=---- - economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet. \

s R e

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) ==mmmmeeme the British' Dominions were recognized as ‘autonomous communities’, (12) -------
the British Crown. Sinee 1947, when India chose (13} ----——--- within the Commonwealth, it
has consisted of an ingreasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
) — head of the Commonwealth. Given that its member states have little in common
apart from a historical tie. to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

1) 50 2) which 3) so that 4) in which

1) binding together 2) bound together by

3) together having bound 4) having bound together

1) to remain Z) remaining 3) for remaining 4) ta:be remained
1) by 2) out of 3) within 4) outside

1) for 2y towho'1s I totharof 4) that she is
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T C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing |
ithe best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage I:

Stepper motors are useful wherever accurate control of movement
is required. They are used extensively in robotics and in printers,
plotters and computer disk drives, all of which require precise
positioning or speed. In a plotter, for example, by using two motors
running at 90 degrees to each other, they can-beused to drive a pen
an exact distance in all directions. In robotics; they are used to
position manipulators exactly where required.

A stepper motor doas not run in the same way as a normal DC
motor, i.e. continuously rotating. Instead, it runs in a series of

10 measured steps. These steps are triggered by pulses from a
computer, each pulse making the motor turn either in a forward or
a reverse direction by an exact interval, typically 1.8, 2.5, 3.75, 7.5,
15, or 30 degrees. Accuracy is within 3% to 5% of the last step.

Fig. 5a Fig.5b

The rotor in a stepper motor is constructed from several permanent
15 magnets with north and south poles. The statoriswoundinto a
serias of electromagnets, usually four, which can be switched on
and off. Figs. 6a and b illustrate the operation of a parmanent
magnet-type stepper motor. When-current ls applied to the stator
coils, it creates the pole arrangement shownin Fig. 5a. Poles 1 and
20 2 are north. Hence, the rotor south poleis attracted to both of them
and settles in the mid position as shown. Whan the stator currents
are changed to produce the pole arrangemaent shown in Fig. 5b,
pole 1 has south polarity. This repels the rotor which moves to the
new position as shown. Each polarity change on the stator causes
26 the rotor to move (in this case) 45 degrees.

16- The difference between a stepper motor and a DC one is in ~--—---- =
1) the method of running 2) the rate of accuracy
3)the number of magnets 4} the direction of running
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We understand from the passage that accuracy in stepper motors -—----- .

1) is between 3% and 5% 2) is greater than that of DC motors

3) depends on the degree of rotation 4) depends on the number of magnets

The underlined “This™in the Iast paragraph refers to ————-,

1) the change in the current 2) the degree of polarity

3) the arrangement of poles 4) the south polarity of pole'l

We understand from the figures that the stepper motor is switched on or off by ~———-,
1) the poles on the rotor 2) polarity of the poles

3) the poles on the stator 4) the turning electromagnets

We understand from the last paragraph that the degree of the rotor turning depends on --
1) polarity of the poles 2) the current induced

3) the position of the stator 4) the number of electromagnets

Passage II:

A wide variety of LAN standards exist in bothuthe industrial and business markets,
due to the competitive and ‘lock-in’ nature of the suppliers, resulting in continually
changing specifications. Once a firm has purchased.a svstem of this type, it is
normally constrained into expanding the system using equipment from the same
source for reasons of compatibility.

In a business situation, it may oftén be possible to specify equipment from a
single manufacturer. However, in industry the t¥pe and diversity of equipment and
plant often precludes single-sourcing, since the PLCs, automatic tools, CMNC, etc.,
inevitably come from different manufacturers.

A PLC may be linked into its manufacturer's communications network by
using a proprietary network interface module, if one is available for the particular
PC. Most manufacturers provide anetworking svstem that allows the connection of
most of their products, but very rarely will it be possible to use PLCs from different
sources on the same system.

If no standard LAN were adopted, each manufacturer would fit their own

choice of interface, resulting in obvious difficulties when attempting to link different
devices into the same network.

At levels 3 and 4 of the control p¥ramid (cell and station),
the specialized nature of PLCs, robots, etc., dictates the level of communications
required, normally involving real-time control and high functionality. In most
situations, a company using a single manufacturer of, sav, programmable control-

lers, finds it convenient and economic (o use a proprietary network for communica-
tions at this level.

The main difference between industrial LANs and the business ones is in ——---——.

1) loek-in nature of supplier 2) specifications required

3)-business specifications 4 industrial specifications

We infer from the first paragraph that suppliers with “lock-in™ nature produce ----—-- -
1) industrial LANs 2) business LANs

3) equipment for the systems 4) products with specific quality and price

We understand from the passage that LANs used in industey are-——-— than those used in
business.

1) more complicated “2) more advantageous 3) more numerous 4) more intricate
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24- We understand from the passage that PLCs and PC’s must ----—- -

1) be linked online Z) come from one source
3) come from different sources 4} be connected by an interface
25- According to the passage, the level of communication depends on -———-- -
1) PLCs 2) robots 3) several factors 4) interfaces

Passage 111:

Modern control theory. The modern trend in engincering systems is toward greater
complexity, due mainly to the requirements of complex tasks.and good accuracy. Complex
systems may have multiple inputs and multiple outputs and may be time varying. Because
of the necessity of meeting increasingly stringent requirements on the performance of control
systems, the increase in system complexity, and easy access to large-scale computers, modern
control theory, which is a new approach to the analysis and design of complex control
systems, has been developed since around 1960. This new approach is based on the concept
of state. The concept of state by itself is not new since it has been in existence for a long
time in the field of classical dynamics and other fields.

26- From the text, it is inferred that the main need for performing complex tasks accurately
requires modern engineering systems to move toward --—--— .

1) integrity 2) difficulty 3) discrimination 4) precision

27- It can be understood from the text that modern control theory has —--—-- because of the
necessity of meeting increasingly stringent requirements on performance of control
systems.
1) evolved 2) been designed
3) been based on a new approach 4) eased access to large-scale computers

28- It can be understood from the text that multiple inputs and multiple outputs along with
being time varying --—---—-- complex systems and single input and single output ones.
1} dismantle 2) extricate 3) differentiate 4) harmonize

29-  The underlined word “stringent™ in the text here means ...
1) disagreeable 2) severe 3) desolute 4) barren

30- It is understood from the text that growth in the system complexity and easy access to
large-scale computers emables modern control approach to -—— complex control
systems.
1) characterize 2) conceptualize 3) facilitate and ease  4) analyze and design
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